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Check the question paper for fairness of printing. If there is any lack of

oy :  Caoeuwrer G sglé LLD eUTHSI, FDESTUTHE 6T 6T(LpSHeD.
Note:  Draw diagrams and write equations wherever necessary.

u@d) - 1/ PART - I

ey : 1) Soersg alamésehdGb e weNésayb.
ii) eflurer alloLowsd CoHOshss TWES.
Note : i)  Answer all the questions.

ii) Choose 'and write the correct answer.
Oereumeuateubne ehs  Gemewr &g‘)@m@é@mpmnm' &L
QaretiLee ? |
=) Mo, W ) Y. la @) zr. Hf
Which of the follbwmg pairs have almost equal radii_?

a) Mo W B Y.la = o ‘Znwe

©30x1=30

T TR L

#) Nb, Ta.

d) - Nb, Ta.

[ Hipliys / Turn over
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2.

mrr;bg;sﬁ)eo’r@&:aﬂs&r @ungm&m ( @pSebTEmLDWITEDT ) %&aﬂgeaﬂ@rp Hleme
) 9 - o) +!
@ +3 | F) +4.
fI‘he- most common oxidatioﬁ state qf lanthénide is

a) +2 ' ,- : iy R R

L el -. & s

Sigilblest 2 maade afl QUTGETTS pueTu@es

) SO . : .' o) CeL

Q)] u.g(%u;rscﬂujfn ' o - m)  Grguib.
- ne fuel used in nuclear powér plant is
a) Copper HaE 8 b) Lea;l_ '

c¢) Uranium | L - Radium.

L (1), [ Ni I et pieoerey e

o) 2 ' i o) 4

@) 5 | e ‘%) 6.

The co-ordination number of NiII in [Ni (C1)4]2_ is

aj g g ' : ) b) 4
c)- b d 6.

B-sdi QeusmGuHDD ashE Fob

o) §6 Gy sfafoy viGd &) 86 Byl yTe Gonay G

@) (=) whnid (2b) @y &Sor B> g) @eubmel argiafldenen.

Loss of a B-particle is equivalent to.

a) increase of one proton only - b) decrease of one neutron only

c) both(a) &) _ _ _ d) none of these.

b)
c)

d)

‘K¢
<34)
The

a)
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FlentaQarsr o bmé sFawrdpuls ssialaaniear Geusid
@1) AL <) Bswrerg

Q) ey : F) damD Queursy.

If the activation energy is high, then the rate of the reaction is

a) high | b) moderate

c) lov& . d‘}, cannot be predicted.

o [PLDE &6 61T B 61T L&sa*qmg,é]mrrsu QLUQUWTES L cug)

o) Berefup seiqy® Uyeud e g,_%) Blesteormh LEGLIY

@) Wesrecflwi aru;gpwu Aoy ) Lﬁ]s&'r@@e'méa Seuigs. -

The migration of colloidal particles under the influence of an eléctric field is
known as |

a) electroosmosis b) electrolysis

c) electrodialysis - d) .clectroph-_oresis..

Gaudliugiiys seuiselley a8 seupTaTg) 2

3 BerrH H6TeLYEL WS

%) @sbe Aatan yppd Comaiu@ipg .

Q) urius saiEd Qurpsile S5 Le SPsEsmer Combnelédlng
F)  uglyé Gemomsem 2 (heurdlatme. : ¥
For chemisorption, whic_h is wron.g £

a) Itis irreversible

b)Y It requifes activation energy

¢) It forms mul_timoleculaf layers on absorbate |

d) Surface compounds are formed.

"KCIO; flovgamid elenerlles LweTu@&sUuHD aﬂmm@mamn'[glﬂ

<) MnO, =) Cl, ) V2'05" By Bt -

The catalyst used for the decomposmon of KCIO; is

a)  MnO, I | c) v205 d) Pt

[ &@Liys / Turn over
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10, @B b DerGeorri L Heos RO Neugsl sHyea aulfiGw Qe aysabCuTSl
Bereumiléo Ligd QuiTEafies mHlemD :
Sy ELTH D A o) PpeSaa) L
@) Ber Gaudlswre aremL ) o .

When one coulomb of electricity is passed through an electrolytic solution, the
mass deposited on the electrode is equal to
a) equivalent weight b) molecular weight

¢) electrochemical equivalent d) one gram.

15 CH3 — (:Hz = N02 LD!;DQ_“:D CHB = CH2 -0O-N= ] @&FI'LDIEJEEGTT §)|Ti_®|:ﬂ LDW@@UJLD

<) Guuorbdlud | o) sndlels CerT wrHBiwb

@) NeversQsT&H wrpHid ") @mrﬂ@ &mrﬁ!@ep_mrr;ﬁ@min.

The isomerism exhibited by CH, - CH, - NO, and CHg - CH; - O-N=Ois
a) position : b) chain
&) funétion_af d) tautomerism.

12. el CrmisGaenet Zn giser + NH,Cl seree Qaraih sE&SlnTe e Lugl

&) CHNH, _ 21) CyHgNH,
@) CHZNHOH | . w) CyHCOOH.
" When nitromethane is reduced with Zn dust + NH,Cl we get
a) CHNH, g st Co
¢) CH,NHOH 'd) C,HZCOOH.
13. Quesrfere Bl Gy ghpb Qelyd STeuELLTedT BT SeTtil
o) eanl.Gyrenubd Sjwesil : o) saCurails EXTN L
@) oL Grmefiu Syweot) ‘ g 7) yGrreow® Sueil.
Electrophile used in the nitration of benzene is
a) hydronium ion - . b) sulphonic aéid i
¢). nitronium ion . | . d) bromide ion.

14. B&Eb er&smyOU Carps®

3) &&Cpre . <) OeogCers
@) evomiée 8) GEepsGemen.
The reducing sugar of the following is -

a) sucrose : . b) cellulose

c) starch | : d) glucose.




15.

16.

1.

18.

5 _ 8234
gievwwpp eriueaer Qaramyrrs bCarm oufleud
&.‘i}' e emdeit : Q1) jeveiledt
@) . yGymredles _ F) eogQrmréler.
The amino acid witﬁout chiral carbon is it
a) Glycine .b} Alénme
c) Proline d) Tyrosine.
21 &elleest epevdanlet UlememriiLgsyin
&) 25 - | <) 1
@) 3 | " §) 2.
The bond order of oxygen molecule is |
a) 25 . | b) 1
c) 3 . d) 2.

GODHS 2ADDO Q&HTEIL. Apedhanm Tl LT erg) ? :

) O, _ <) 0;&5
Q) Ty : : F) T py-
Molecular orbital with the least eﬂergy is .

g . o 3 B ot
c) Mop, : - d) ngpy A

Sledteu(m euesteubmet ergl @q,@amrr;m @{iuscﬂmrré;@tb %g’)g}:ﬁ'\l Qupmierergl 7.
34) STy L@c;\m'&réjsasfr_ ) BT 1DET0T L(er’r&,méaefr
@) GCamewmetaer ! F) bHS UTWSESET. .
Among the following which has the maximum ionisation energy ?°

a) = Alkali' metals : b) Alkaline earth metals
¢) Halogens . : ~d) Noble gases.

[ &®Lys / Turn over
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19.

20.

21

22,

PCl, &1 eugaibd

=) lﬂmfé =) p&Gamem QGRDE
‘@). CprGar® §)  BrETpS.

The shape of PClg, is | »

a) Pyramidal | b) Trigonal bipyramidal
c) Line'ar d) Tetrahedral.
d-@g,rr@é\ gefLofieemedt QT gleurmest @@qﬂ&&n&@ ey

B Gana e L &) (n-1d'Pas®

@) (n- 1)'d0 e 2§ (n = l)dl—l() 2

The general outer electronic configuration of d-block elements'is

a) (n-1) A 10 s b) (n-1) g Pt

e (n-1) dns - gy e l)dl‘m ns'"2.

BCC u_qa&_;é\s’u P06 ANSS ol 1q.60|6TTET Qbrrﬁ;g, Sigznbaaflat 6T GBOT 0T 60 &

T | N &) 2

@) 3 : R A
The total number of atoms per unit cell in BCC is
= | 4 B2
gh 3 : . d) 4.
T g{mmulﬂeﬁ-@ﬁgj,@u@émm Bl&1 (S;umm

o) w=-PAV B o) w+PAV

‘@) -—w+PAV ) —w-PAV.

The network obtained from a system is given by

a) w-PAV b) w+PAV

) -w+PAV d -w-PAV.
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23.

24.

25.

26.

7 - 8234

Cs 5 246 UGHANSGSUUL PeTeTs).
<) Bleevemiy =) eufléemiy
@) eueTWMISSILULL &rrrm . F)  eUuUDISGSULLTS SmTy.
Entropy isa ........... i ey function. |
a) state | ' b) path
¢} exact , . d) mcxact
sﬁemmu@ QumpL_sefles @(r_r; u@é] Oesreord e gevemLeug
<) SHeosanib swohleme T o) Geftdens aldlsd
@) Jfleoms aisd | . 7)) Seosamn wrnledl.
The fraction of total moles of reactant dissociated is called
a) dissociation equilibrium | b) degree of association
c) degree of dissociation | d) dissociation constant.

&ThHn @meﬂ@u_r@@uuL_L_ 1-0 dm® Qererenarey 2 e SapHle @G - Cuorése |
NH; eury QEenssliulLg. 2 wi @muu@smeuufﬂs\) NH; &levsbsl &wrﬁlemmuﬁ]su G
Guoméy NH; wl G erehd) g‘,]amgogj @édesey aloanier K, wdliy

3 : 2
=) 27f16(mole i ) | ‘@) 27/8 (mole dm™)
@) 27/4 (inole dm_’3)2 1B ) ' Qeubpiet ergiaybldeme.

Two moles of ammonia gas are introduced into a previously evacuated 1-0 dm?

vessel in which it partially dissociates at high temperature. At equlllbrium
1-0 mole of ammonia remains. The equilibrium constant K, for the dissociation is

2 27/16 (moleam®) b 27/8 (moledm™)

_ : _ . |
c) 2714 (mole dm‘s) ; d)  none of these.

Bemguwid L(err&:g,gu_em %G\J&:@WG\} aﬂ]emscrrqrﬂcug;sm aSlemeot cﬁrﬂm aufleme
<) 1°<2°> 3° g osanre - ' éy_,) 1°>2°> 3° é_{,suag)rrsu
@) 1°<2°<3° gyasanred F) 1°>2°< 30 2|, NSHQDTE.
Order of reactivity of alcohol tovfards sodium metal is

a}. primary < secondary > tertiary |

b) j)tir_nary > secondary > tertiéry _

¢) primary < secondary < tertiary

d) primary > secondary < tertiary.

[ Slplys / Turn over
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28.

29.

DL TSI FHOT é]@g,&ug,;b@&rj;gs 87600

<) HI @) KMnO,
@) NaOH ' §) Hy0.
Diethyl ether can be decompoéed‘ with

a) HI : b) KMnOy4

¢) NaOH d) H,O0.

Gereumeueeuppiet ergl S HySO4 o Lt 413 K &@ Qauiuiu®sgoturs Fe@y

SGHDS ?
<) &flo obled - <) 2eugoan®
@)- 4 HBHADTE ) SLGLmer.

Which of the following produces ether, when heated with conc. H,S0, at 413 K?

a) Organic acid d b) Aldehyde.

c) Aicohol . i = ‘ d) Ketone.

Saemge &L GLTeer oPlu 258l

=) SoQUNE &6y &6 : 34) @{Gﬁ.lrr(&_rro"ourrfnh Gargemest

@) edlu -G&rrgsmsm F) LTevedten Syeoi.

Methyl ketones are characterised by

a) Fehling's solution b) Iodoform test

c) Schiffs test o d) Tollen's reagent.

L_ITGueBT e aﬁ]mmﬂ@un@mm $0&GD 2flevid

2 SElgs .=9|Lﬁ]é)|b i <) QQG&T&rruﬁlés- 2ybleuid
@) urifé Spblevd ' . m oy eurellds Sybleb.
_ The acid which reduces Tollén‘s reagent is
a) aceticacid ' b) benzoic acid

c). fqrinic acid b d) oxalic acid.

T A A

3¢




31.
32.
33.
- 34.

35.

36.

.37.

9 ; 8234
u@ﬁ-nlnmw—n

edliy : i) gGsenid udleerribg el és@née alar wef.

i) eeuQeur®m allarraliben @emggj EVEN @Ucom@} aursdlunesefl
allenL_wer).

Note: i)  Answer any Jifteen questions.

ii) Each answer should be in one or two sentences. . 15 x 3 =45

Qlaniie eTur & et Blevaudléar Qarsiamesaw TDGIS.
State Heiscnberg Uncertainty principle.
Sfeiallet 2 meerey SdlafeenCurs &wsoﬂmrrs,@m DD GDn&ng). aﬂlen&@

Larger the size of atom. lesser is the ionisation energy. Explain.

Qearmett Soligmenr G Cerriois e sreleurm swrilésiiu@dng 2 .

How are Xenon fluorides prepared ? ]
coljtanifleflesr oy serflenGesrbm Smedr LHs &;Q,I,
Discuss the oxidisiﬁg power of fluorine. _
@@L;glgls_meu 2 Garahiset Hipapeirer suwelaamer 2_&goT_mégeug et 2

Why arc transition metal ions coloured ‘?

Codlwev sengm releutn swrilésiu@dng

How is Isurple of Cassius prepared 7 I .

02UP® — 0, Pb?%  @iiorppsdle QalfliL@d o whpd B gserefar
el emnsu seoddE. ' ;

In the conversion of g, U?*® — ., Pb2%8 cajculate the number of alpha and beta
particles emitted. ' :

- Jee & @i syeE smlige 2 sfrem &@1}&38&0‘{ uhHml @[ﬂLIL[ CLEDNT & .

Write a note on the assignment of atoms per unit cell in fcc

‘) AG>0
i) AG<O

i) AG=0s95 Q®résb Gurrgy mﬁ?emsmuﬂaﬂ g,emcmu: tun'gj ?
What is the nature of the reaction whcn —

) AG>0? '

i) AG<0?.

iii) AG=02?

[ flpLiys / Turn over
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40. &S-sriedui Q& sHews Enpl.
State Le Chatelier’s princ:iplé.
41. oleareuenseow aUTWDI.
Define order of a reaction.
42. @eaviallee & eTDTe eresTent 2 PG SN HBHS .-
Wha_t is parallel reaction ? Give one example.
43. SHeLLITET Seul & PIORIG 6T GTETMITGY 6T65TEnT ? d05aHETLH 5B
What are lyophilic sols ? Give example.
44. ?@mn&&ég&,gﬂ&mﬂe&r &L 58I5HDeT Glmalu@e‘mm gﬁérﬂé@mﬁun@ GoneuCseT 2
Why does the metallic conduction decrease with increase in temperature ?
45, 2-Questeaie deu LHDID G TTETEV wrpPuksefer yOLULH@TS SBS -
Give the structure of cis-trans isomers of 2-pentene.
46. &flgermi® Gﬁg;ﬁ@ﬁjq peopiiles GluetTene e S OHBHADTE ETElIaUTD) gurfssiu@ens ?
How is benzyl alcohol prepared by Grignard's synthesis ? :
47. Qaﬂ_&jrreﬁ]sﬂ@fbgﬁ on Gy Hefafler erelourn) suTf&alLGEDS ?
How is nitroglycerine ﬁrepared from glycerol 7.
48, yGymlgrileT ereueumpl g;tl.lﬁl'ﬂ&‘ﬁ&:l:.lﬁ@&“mg] 7 S{SEBT LILIEBT 6TEOTENT ?

How is urotropine prepared ? Give its use.

.

49. g &eTdlS sflsdler LLETSHET WD SGS.

—

Write three uses of oxalic acid.

fn

50; C,HNO arétip (pevdaap euriur@eoLw afnCsion ( A ), Na/CyHgOH ey e
Neveryfba (CoH,N) arerp B eowyd, Br,/KOH ejd1 alleeniuc( (CHgN) ereébtp |

- C eowyh s6EDg aafia, A, B, C ou oL DI&. ¥
An organic compound A of molecular formula C,HgNO on treatment with!
Na/C,HOH gives B (C,H;N) and with 'Br,/KOH gives C (CHgN). Identify A, By

, : 5¢
C. ' '

51. ouflev Bédlaer TG ETETENT 2 6p(B ETETD) HBS -

What are antacids ? Give an example. -

>
- ,_m»qEI.a._ﬂ. e ...-_w.w_ S
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52.

53.

- 54,

a5

- 56.

57.

A, Bg

58.

R EMM

11 , 8234

LU@$) - III / PART -~ III

@gﬂd‘q: spelGleur(m Uflelell®mhan @onbsur ab @ elarmasaer @5!1'5@5@5@
' Qor&sin T aﬁ]mrréw,@é;@ aflenL_wer.

Note : Answer any seven questions choosmg at least two questions from each
Section. - _ : _ 7%x5= 35

Uifley -/ SECTION - A
pevddan 947N LT Qareienseanw 24 &er0leeT (pevdanm) 2 (BEUTEUSHES LILTLRS 56 .
Apply molecular orbital theory to oxygen molecule.

Qurirdun oLeCrrCol. oyser &CrmeninL sraelelehs  ereeurn)
sutflssiL@ens. '

How is potassium dichromate prepared from its chromite ore ?

VTHSDR ) Gnids Helesr mﬁléﬁmm&,mm TDG.

What are the gonseﬁucnces of lanthanide contraction ?

Qeardlner Neewmmiyg Qsreransau LWeSTURSS) [Ni (CN)4]2__ bpoid [Fe Fg]* e
g b WHDID STHSL! LT s er aleré . |

Apply V.B. theory for [Ni (CN)‘,]% and [Fe F6]4‘I and explém the shal:;e- and

magnetic properties.

d}:ﬁq <g / SECTION - B
Qeutiu @wa&&aﬂwm @ efle veiGaun snbmiseer 6T(pEIs.

Give the various statements of second law of thcrmodynamms

PCl fleosyd elaarse K. wdpid K, wrilefls@nésrear snatur®saner GaNEsaD.

Derlvc the expression for K, and K p for the decomposition of PCl5.

Cughlér oG e bl BrrhuGsssr aflererCeous mrr@e{ﬁcmm Garrasemem
ob plifeolésn alssams aleré. ,

E.xplain the experimental dcterzﬁiﬁation of rate constant of acid hydrolysis of
methyl acetate.

[ ﬂ@ﬁq&: / Turn over
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59. Jareumd Hersaalameaisarea sobloea prhdlowus sl (e .

2Bt + fn=—= Zn”* s IAx

Epg ing =+080V. E) . =-076V.

Calculate the equilibrium constant for the following cell reaction :

| SBg*aZn=— Zn* + kg

=+080V, E’

~Zns/Zn

EAg' ! Ag

=-076V.
Afley - @) | SECTION - C
60. SNGaraue@b, oL aiHle FEmSED 2 srer CeunurGaaer TADS.

Give the differences between anisole and diethyl b
61. S Lrégemanged Sreoriu@b SOLTE GDI&S eflemeorletr aﬁ]aa_asml auflpenmenu

allené@s. ' |

Discuss the mechanism mvolved: in aldol condensation of acetaldehyde.
62. _ = Syeeurells siflevid

<) s6daflé Suflen

@) oooL_IFI'I"FL&é%.&{L.JS]G\)L'D.

@Gugbgﬁleﬁ'r Sg Qeuliudler eleverey wray I?&ms&ruﬁ@&,a'? H(H .

Give the equation for the éction of heat on -

a) Oxalic acid

b)  Succinic acid

é) Formic acid.
63. Tr&QEL 2 hleer eraTpTey eTetTenT ? SiEmEL Qewau@n alssaos cﬁ!}més@ ?

What are rocket propellants ? Explain the working of a propellant.

A o

66.

Ao

a)

b)
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u@él - IV / PART - IV

efliyser : 1) oo e 70 &© sLLTwTs el welésiuL Gevesor (Ib.

64. i)
24)
a)
b)
65. o)
)
a)
l b]_
_66. =)
=)
a)

Seqpeien  alammsseiles  glseud ety al@iTésEhHE
ol wefl.

ii) Orgsh Brearg alaméesensd alawef.

Note : i)  Question No. 70 is compulsory and answer any three from the
remaining questions.

ii) Answer four quéstior_is in all. ' 4x10=40"

el YTSHes HaoTsHSED uTaiipenau alerss.
Qo egar srgelllmhe aearn UNs0sRssILESDg aarums aleuf.
Explain the Pauling’s method to calculate the ionic radii.

Explain the extraction of lead from its ore.

f
|

Qarrerflar seamag Cearnb Qeraiamaamu 6rwgis. .

@ADL 7T @e( Cleudufadla ssgs0ms sﬁ]srr.és@.-

Write the postulates of Werner's theory.

Explain the principle in thé functioln of hydrogeh bomb.

Sweflls Ly shiseNaT LeTyseT LDH al.

aﬂemem@m&,mrrg')gj aﬂsc;sur&.mﬂe&r @urrg,;surr@ é]g)li;uﬂmehqemﬁ wremey ?
Write the proper.ties of ionic crystais.

Write the general characteristics of catalytic reactions.

[ Sllys / Turn over
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67.

68.

69.

)

a)
b)

24

a)

b)

=

%)

a)

b)

. e QUL @ Veoamiou alerde.

14

Dy Eveun GuL s alldlew aymal.

-

i

NG Deaasdledr  eIpLems GO0 wuesTuGe IUPAC alldlpenmeeneT
QO

Derive an expression for Ostwald's dilution law. .

Write notes on IUPAC convention of representation of a cell.

auemeny Ganseamelle as st UHH @iy a6 e-

erdfells  ofesddehs seudflén,  Spmse  erdldGar LoHmID
9. 4, 6-"_eogyCyrGurieiTe 2y Hueubep CupiasDSTE! Slenermaner aNeTHE.

Write a note on the. conformations of cyclohexanol.

Explain the reaétion_s of formation of aspirin, methyl salicylate and

g A 6-tribromophenol from salicylic acid.

@D UEDTE

) sGe aaTGmi oSevert
ii)" oL wuGsm 450 Slevet
iii) &mb@u‘fréa aflemenr.

QuueL® Uenestiy Gy eTedTeT 2 Hevarflao@earaics 2 GUTGSD
: &

i
Write notes on the following :
i} Mustard oil reaction

ii) - Diazotisation reaction -
iii) Gombefg reaction.

What is a peptide bond ? Explain the formatioﬁ of dipeptide bond in

glycylalanine.

A
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70. &)

é%)

a)

b)

nd int

1-5 : 8234
Geiod A (CgHgO) wresrg [5@[966161) FeCly wpmid CO, 2.6, 400 K/4 to
7 atm & ellearyflbg eagT Bingamss SHADE!. (BLbé,ulb @esu_ar Birsg HCL &
Cere@bGura Ceaib B (C,HgO5) o6 smHns. B BBblene FeCl; 2 1 e gengr
BIDD  wihmin NaHCO, Q._I_GETI’. I S EIL G\pmﬁ;@gﬁmm g@aﬂmgj. Geirob A,
473 K & pybn 2ZnCly, perefloeudles NH, e afleveriiu @ Gsiwb. C
(Cst;N) s®dna @8 srieuebe alemeemws g{;@laﬂg)g;‘ A. B. C g s

aflever semen 6.

A aeip geflod 4 eug Qsrflaud 12 cugy Osreddeud 2 eerg. A o6

U@ srgeidipha Cupiu@dpg. srhdlaeier ..%é:erﬂaagl_@ 773 K
Qeaufloallds A eleoayfibs B e Cerwsemssd smHns. B d];surr&ufrs__sb
STOTaYD Sy P&HILESIDE. A @GLrear NaOH 2 et eleveryflig C WS SHHADS.
A piigs emlfé &ﬁmg,ﬂ_eﬁr.aﬂmmqrﬂ{_’r@ N,O eredtp euryeey Qmeﬂ@mﬁ;gﬂ D

aretn Gefngeams s®mEnE. A, B, C, D ew &scobTL@ﬁ;gj arsamer alende.

Compound A (CGHGO) gives violet colouration with neixtral FeCl; with CO,
at 400 K/4 to 7 atm. followed by acxdiﬂcatlon with HCI gives B (C7H603)
B also gwes violet colouration with neutral F‘eCIq and gives effervescence

with NaHCOj; solution. Compound A reacts w1th NH; -at 473 K in the

presence of anhydrous ZnCl, to give compound C (CgH;N) which undergoes

carbylamine test. Identify A, B, C and explain the reactions.

An element A in group number 12, period number 4 is extracted from its
sulphide ore. A reacts with O, present in the air at 773 K to give compound
B which is called Philosopher's wool. A reacts with hot NaOH to give

compound C. A also reacts with dilute nitric acid and forms compound D

with the liberation of Ngf). Find out A, B, C and D. Explain the reactiohs_.
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0-20 Gura/eliLi CH,COONa wppid 0-15 Guord/edlii CH,COOH o eren
BTRsS seareeilet pH mé seasd(. CHyCOOH e K, wdliy 1-8 x 10'5.I
An.organ\.ic compound A (C,H,0) with HCN gives B (C3H;ON). B. on

hydrolysis gives C (C3H503) which is an optically active cbmpound. C also

undergoes iodoform test. What are A,Band C? Explain the reactions.

Find the pH of a buffer solution containing 0-20 mole per litre CI-ISCOONa

- and 0-15 mole per litre CH;COOH, K, for acetic acid is 1-8 x 107°,



